
22141 Yamaha MT-10 Sport Fairing Panels

sales@pyramid-plastics.co.uk
+44 (0)1427 677990

www.pyramid-plastics.co.uk

Remove the original panel and bolt 
highlighted in Fig 1 (repeat on opposite side).

In Fig 2 (right hand side of bike), 
hole A needs the 3.6mm X 10mm X 15mm 
Spacer and hole B needs an M6 X 25mm 
Spacer and an M6 X 1.56mm        Washer.

In In Fig 3 (left hand side of the bike),
hole A needs an M6 X 25mm    Spacer and 
an M6 X 1.56mm        Washer. Hole B needs
the M5 X 30mm    Spacer.

Now the panels are ready to be fitted using 
the remaining fixings Fig 4.

Note: Washer CWAS0230     is NOT needed if you have a Radiator Guard fitted.

Kit Includes:

X1  M5 X 30mm
X2  M6 X 25mm
X1  3.6mm X 10mm X 15mm
X1  M6 X 30mm
X1  M5 X 12mm
X2  M5 X 16X2  M5 X 16mm
X2  M6 X 10mm
X2  M6 X 1.56mm

  

Spacer
Spacer
Spacer
Bolt
Bolt
Bolt
BoltBolt
Washer

CSPAM50001
CSPAM60008
CSPAM60010
CBOLM60027
CBOLM50006
CBOLM50007
CBOLM60025CBOLM60025
CWASM60004

Fig 1

Fig 2 right hand side

Fig 4

Right hand side panel Left hand side panel

Fig 3 left hand side

B

A

A

B

M5 X 16mm

M6 X 30mm

M6 X 10mm M6 X 10mm

M5 X 16mm

M5 X 12mm

3.6mm X 10mm X 15mm

M6 X 25mm
M6 X 1.56mm M6 X 1.56mm

M6 X 25mm

M5 X 30mm


